Physics AS homework
An electron and anti –electon pair can annihilate each other producing gamma rays.

1. .Calculate the rest mass of the pair in MeV.
2. What is the minimum energy of the gamma rays produced in this process?
3. It is possible that gamma rays with greater energy than this can be produced in this process, explain why.

4 Visible light has a wavelength between 400 and 700nm. Calculate the minimum and maximum frequency of visible light.

5 A microwave source is radiating at a wavelength of 2mm
a) Calculate the frequency of the microwaves.
b) Calculate the Energy of the individual photons in the radiation.
c) Calculate the energy of a photon of visible light of wavelength 650nm.
d) Calculate the energy  of a gamma photon of 6 x 10-15m wavelength.
e) Compare your results for b,c and d. What do you observe.
f) Give each of the energy values in MeV, given that 1eV= 1.6 x 10-19J

